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No. of Questions/T¥41 &1 ¥&a1 : 180

Time/HHT : 2 Hours /902 Full Marks /qUITs : 450

L
This paper consists of Objective Type Questions and is divided into
TWO Sections (I and I1) as under :
I8 YH-9 Sgfadcdid s WoadiE 2 ddn 21 @ (1 @ 1) § Tors

g, 9 f& 412 aftfa 2

(a) Section—I consists of 120 Objective Type Questions on General
Awareness, Mental Ability, Comprehension and Subject
Awareness in some major subjects.

() ©@UsS—I 4 120 sEfowefia ya a9 IW, WAk draar, s
ad FT g [G9a & I9 W e 2

(b) Section—II consists of 30 Objective Type Questions on (i) English
Language and (ii) Hindi Language.

(@) @ue—II 4 30 =@lawcda ya () *sh wmwr o (i) fedt wror &
¥4 9 i )

A candidate 1s required to attempt as many questions as he/she can of

Section—I, and questions of ANY ONE of the TWO Language papers

(i) Enghish or (i1) Hindi in Section—II.

Fefl § oufaE @ T w1 ¥ wfuEfE uE qw mve—n ¥ ()

HUSH A (i) &R 9w 37 A ¥ 5 o v F uw #®oww a5t

Note ;::i‘rz . (1} Each question carries 3 marks. One mark will be deducted for each

incorrect answer. Zero mark will be awarded for each unattempted
question.

YT YH 3 3F F R NAF TAd I h [0 US HF FET AT
T AR 9 H YHIE I B |

(2) If more than one alternative answers scem to be approximate to the
correct answer, choose the closest one.

I wHiys AFfaF 390 a9 IW F fee wdia @, @1 feeaw 9@ T
3l
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1.

(26)

e et &

e
(.Ele@
e}

(3) Each question 1s followéd by Four alternative answers (1), (2), {3) anr_i
(4). Only one of these answers 1S correct. Select the correct answer and

record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer Sheet, as per the guidelines.

yei® W % AW ddferd I gAN T @ R (1), (2), (3) qU (4) HEd
§ gufm w21 T ¥ Fu O € I OER 8| W I F oww A
A IGF THA W IW-TF B Aot v F R Feveer st oo
(i) Fr aTer wie U9 g HE b g

Section—I
Qvs—I

In the contemporary definition of Psychology, which one of the following is not =
focus of study?
(1) Mental Processes (2} Expericncc
(3) Soul (4) Behaviour
wfase & asifee ot § Fefea § 8 F9-1 3w @ w96 2
(1) wwtas whFar (2) EYE (3) 31wl (4) RN
Which school of Psychology focuses on the ‘organization of perceptua.
experiences’?
(1) Behaviouristic (2) Gestalt
(3} Structural (4) Functional

AT # BH-91 T WEfE sNE O W s 27
(1) SaEgwad) (2) T (3) HT=ATETE) (4) wFEaE)
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3.

126
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I a psychological experiment is being conducted in a sound-proof room, then
the effect of is being controlled using the method of
(1} noise, elimination (2) noise, counterbalancing
(3) noise, randomization (4) light, elimination
Atz ¢ mdmtE Wi vE af-antm w 4w e oW @ 2 @t — @
—— fafu % g FafE fF . @ 2
(1) Fremer, Freem (2) wremed, wREge
(3) FARA, TGESIF (4) W, frem
Which one of the following refers to the ‘'stability of the test scores overtime’?
11) Split-half relability (2) Internal consistency
(3) Test-retest reliability (4) Objectivity
frfofan & & #9 ‘Thew WHiE B B ol § R B PR w27
(1) dfa=de favaaigar (2) AR Hrdan
(3) whiegor-qA-gfteror forvarfigan (4) Feghiea
Which gland within the endocrinal system of the body is referred to as the
‘Master Gland’?
(1) Adrenal (2) Pancreas (3) Pineal (4) Pituitary
weatdt TR qomeh # Fe-d 0 B R 06 Fa o 27
(1) ufge (2) Ffsrars (3) s (4) freged
3 (P.T.O.)
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6.

(26)

Which one of the following structures, within the ear, is responsible o

sensation of postural changes of the body?

(1) Cochlea (2) Eustachian tube

(3) Semi-circular canals (4) Tympanic membrane
fraifea # & ®H % H7 4l blA-"1 97T GHRE JEISN & UEdA H HET
fora fram 27

(1) e (2) i el

(3) 31 - Ao (4) FA F @

Who proposed the idea that rats were capable of *latent learning’ and using i 1
develop a ‘cognitive map’ of a path?

(1) Kohler (2) Pavlov (3) Skinner (4) Tolman

e fr wefaa fean o1 B IR ‘e AROTYT U1 3hen 3w wE A e
F1 HEHE R A 0 gl w4 20

(1) rEeH (2) wide (3) e (4) Zier

Who proposed the concept of ‘working memory’ implying that short-term

memory has multiple components thal are constantly manipulated and
transformed?

(1) Ebbinghaus (2) Baddcley (3) Tulving (4) Bartlett

‘wEEd i w1 dueg, R @R 3@ R eu, wEdd B @ G el
oifd ¥ oFF uew wid @ foe fem weftaa va swrfra fpn s 27

(1) uferreg (2) aget (3) g (4) TP
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9. Which is the correct order of the stages of language development among
children?

(1) Crying, Babbling, Cooing (2) Cryving, Cooing, Babbling
{3) Cooing, Crying, Babbling (4) Babbling, Crying, Cooing
o % a9 w1 9@ FH T R7

(1) T, SaaaHl, fFerfwern (2) T, fperfrern, seEem
(3} Frefrarn, T, SEEEE (4) SeraETn, T, fEAtwa

10. Who proposed the ‘theory of primary mental abilities’ of intelligence?

(1) Binet (2) Spearman (3) Thurstone (4) Guilford
iz ¥ ‘mafgs gEfas emaist & fage @ wfoog fFad o
(1y R (2) ferea (3) ¥eA 4) frerd

11. Which one of the following is not the characteristic feature of ‘gifted’ children?
(1) Conformist thinking
(2) Logical thinking
(3) High speed information processing

(4) Intrinsic motivation

frafafigs § @ FH-T AuE g= & fafire weo @ 27
(1) 9T HHRH (2) afF=w fa=m
(3) drg nfa = wEEEm (4) ArafE o

(26) 2 (P30}
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12. Which one of the following is not included within the positive symptoms of

Schizophrenia?
(1) Blunted affect (2) Delusions
(3) Hallucinations (4) Heightened perception
frafafgs § & F-71 wAifdgeam & oens aeon @ wfmfed Tl 27
(1) W&t & FEa (2) =R
(3) foum (4) wfaAtwa T=efE
13. Who was the proponent of ‘Rational Emotive Therapy’?
(1) Joseph Wolpe (2) Carl Jung
(3) Aaron Beck (4) Albert Ellis

‘THOTE WTETH® WAITafeeT @1 WOl e o1 7
(1) 8% FA (2) B q7T (3) A o (4) wwad ofm

14. What is meant by ‘social facilitation’?

(1) Decline in performance in presence ol others
(2) Improvement in performance in presence of others

(3) Assigning causes to behaviours displayed in specific social setting

(4) Responding to the need of others who are in distress

‘o g @ oa o 27

(1) 3= =l $ ufeafa & P & 3@ @

(2) o= =afeal $ ufeufa & feaer & afy @

(3) mmiferes aftfeufaat & sifiers sgaerl & Fnv fEfe s

(4) S wim Hem # @ T R ¥ ¥ st wn

26) 6
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15. In a , the members often have complementary skills, committed to a

common goal, mutually accountable for their activities and their coordinated
cfforts leads to attainment of positive synergy.

{1} team (2) group (3) audience (4) crowd
UF —— d HEH Wgdl AIEE FNE 9, W9 R * wid wfowg, 9

A ® @ wF-gw F 9 SEE B R qw I e e e
nefFm & ufa 3mfad g 8

() = (2) 8 (3) ATl (4) ¥ir3

16. A "hard currency’ i1s onec
(1) which is made by hard metal
(2] 1in which there are more currency notes than coins

(3) which is a legal tender

(4] the demand for which is persistently higher than its supply
L O G L

(1) 9 weq wig f FH @ A 2

(2) fomil gz A A wen @ = e R

(3) St FR wE Al R

(4) forgeht aim ot 39h gfd @ fis @t @

17. In the short-run, a firm would remain in business if one of the following costs 1s

covered
(1) constant cost (2) fixed cost
(3) total cost (4) variable cost
(26) T (P.T.O.)
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FoTH H, T W wmw d wh e af; fe A A o o A e
(1) fer wwm (2) *rft T (3) @ T (4) uftad=efld #07d

18. Under perfect competition, the demand curve of a firm slopes

(1) downward to the right (2) upward to the right
(3) upward to the lelt (4) horizontally paraliel
ol ufeifien % ota, o % A 9% W oW o 2

(1) qfedt 3 g gam (2) afeft 3 337 gam
(3) =Rt HIT 33T B3 (4) &fost & F wAEE

19. Fiscal Deficit i1s identified as
(1) budgetary deficit + Government market borrowings and other liabilitics
(2) Total outlay - Income received
(3) Budgetary deficit — Public borrowings

(4) Budgetary deficit — Interest payment

s wer freffed O 4 e e 2

(1) S9¥ o1 + \EH] GER YR a9 3 agand
(2) Fo U=Ea — 9TH 3H

(3) T URT — WEWHE I

(4) I "I — S G

(26) 8
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20.

21.

22.

26|
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Phillips Curve establishes relationship between

(1} wage rate and unemployment rate
(2] price of durables and their demand
(3) demand for and supply of petroleum products

(4] None of the above

fufcrs o fhas meg wmry wonfie s 27

(1) Wl o @ ST &
(2) frFra aegant &t Figg vd 9 g

(3) uziferam axgait i A ik gfd

(4) 370 B A S TE

Which one of the following is not an instrument of Fiscal Policy?
(1) Public Revenue (2) Public Expenditure

(31 Public Borrowings (4) Cash-Reserve Ratio
frefafaa 4 | #F-T1 T S #1 I0or 98 27

(1) g+ 3™ (2) TESF =97

(3) HESAS RO (4) TrE-ford U

Which one of the following is true about Net National Product (NNP) at Factor

Cost?

(1) It 1s equal to NNP at Market Price - Indirect Tax + Subsidy
(2) It is equal to GNP at Market Price — Depreciation

(3) It is equal to GNP at Factor Cost - Depreciation

(4) Both (1) and (3)

(P.T.O.)
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Wﬂﬁﬁﬁ:—mwwmmm@um%mﬁqﬂ%?
(1)qgammmqqomoﬁo—maﬁ+ﬂ3NﬁéﬁWﬁW%

[2)ﬁwﬁmmsﬂmoﬁo—mﬂﬁwmé
[31a3mmammsﬂo@ovﬁo—masmam%
(4) (1) @ (3) @

23. Efficiency allocation of resources is likely to be achieved under

(1) monopoly (2) duopoly

(3) perfect competition (4) monopolistic competition
FaTeEl ¥ 2y AEeT # HWE 8

(1) THiUER | (2) ZAFR 3

@) ot st = (4) T ST §

24. Which one of the following pairs is not correctly matched?

(1) Inflationary Gap—J. M. Keynes
(2) Cash Balance Approach—A. C. Pigou
(3) Accelerator-Multiplier—J. R. Hicks

(4) Maximum Social Advantage—A. Marshall
Frafefas § @ #r-a g gt T8 27
(1) Thifd smei—sto Wo HIH

(2) e 9§ gEw—To Hio dh]
(3) ETH-TUH—slo Ao fEad
(4) T " o™ # Hg—To A

(20) 10
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(1) NSSO (2) ISI

(3) CSO (4) Ministry of Home Affairs
wﬁnﬁammaﬁm%&%mﬁmm%?

(1) Q:IOEHOQHOSﬂO (2) Gﬂgot{'ﬂoalrlgo
(3) HioTHoIHTo (4) T8 HACHE

Marginal utility is equal to

(1} total utility minus average utility
(2) addition to total utility caused by consumption of an extra unit
(3) total utility divided by the number of units consumed

(4] total utility plus average utility

i Ui se gt 2

(1) O IWf Fo 3Fa Igifia
(Q]Emﬁiﬁmﬁ%mﬁﬁsﬂiﬁﬁmﬁq&
(3) Fo IWIfET | 3T A T awqad i g ¥ wm
(4) T I F {Ea I

Which one of the following is not a U-shaped curve?

(1) The AVC curve (2) The AFC curve

(3) The AC curve (4) The MC curve

frefefiga & @ #9-w1 % U—quﬁ‘éﬁl?

(1} AVC & (2) AFC a3 (3) AC g (4) MC a&

11
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28.

29.

30.

31.

(26)

Fiscal deficit less interest payment is called

(1) net fiscal deficit (2) monetised deficit

(3) primary deficit (4) budgetary deficit

fyefry w1 i s ) et Wit 4 @, A FRd ©

(1) yg ol @@ (2) ga =1 (3) Wufeh W= (4) IR T

Which one of the following is not a method of calculating national income?
(1) Income Method (2) Expenditure Method

(3) Value-added Method (4) Financial Method

fraferfag § @ w-T1 ¥R wam H fafa w27

(1) @3 fafu (2) = fafu (3) gea-3fg fafr  (4) ffm fafy

The indifference curve for perfcct substitutes 18

(1) straight line (2) L-shaped

(3) convex to the origin (4) concave o the origin
ofa: T ege % v qerwar @ @ @

(1) et @ (2) L-3THN =

(3) q&t farg A 3 Iee (4) 4t fomg F 3T syadw

The two most important centres of the Harappan Civilization were
(1) Rakhigarhi and Mohenjodaro (2) Banawali and Mohenjodaro

(3) Chanhudaro and Harappa (4) Kunal and Harappa

12
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TSl WA T qEE Ry F 1 97

(1) THm T Higraree (2) STEE a91 Hreieet
(3) TFEIGE dUT FEWT (4) FOTST q°T BIAT

32. Who was the first Tirthankara of Jainism?

(1) Mahavira (2) Parshvanatha (3) Risabhdeva (4) Indradeva
s # uun dtdaw e g2

(1) wewE (2) ureETY (3) FneE 4) 5
33. Megasthenes came from which country?
(1) Persia (2) Afghanistan (3) Greece (4) Mesopotamia
WA R 3 8 I ar7
(1) wfefn (2) IEMAEE (3) TN (4) wErarafE
34. The Ajanta Caves are located in which Province of India?
(1) Gujarat (2) Rajasthan
(3) Maharashtra (4) Madhya Pradesh
AT T MRG & fo6d o § ovafeg 27
(1) T (2) TeE™ (3) wenmy (4) AT
35. Who among the famous Rulers was known as the Indian Napoleon?
(1) Chandragupta Vikramaditya (2) Samudragupta
(3) Chandragupta Maurya (4) Skandagupta
26) 13 (P.T.O,)
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36.

37.

38.

(26)

ﬁﬂ%{iﬁﬂﬁﬁaﬂ:ﬂﬁawm%ﬁ%m%mﬁaﬁm%?
(1) == faies (2) HETH
(3) Iz HH (4) TEH

Who was the author of Rajatarangini ?

(1) Bilhana (2) Kalhana (3) Kalyanraman (4) Jayadev
T % orE® F Y47
(1) forczm (2) FEU (3) FATRHA (4) Sa5a

Who among the following is associated with the construction of the Mosque
Arhai Din Ka Jhompra?

(1) Qutubuddin Aibak (2) Balban

(3) Raziya Begum (4) Ruknuddin

fr § & F areR A w1 g T afew F Pl 8 aaEfug 20
(1) FgIEA GEF  (2) Sefed (3) Forn &m (4) TFTEA

During the Delhi Sultanate Period, the World Ulama meant
(1) Archaeologist (2) Historian

(3) Religious Scholar (4) Writer

ot e Fa § Iam # w0 o 977

(1) JoawEieg (2) sfogmER (3) i fogm (4) @®

14
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39. Who was the author of Prithvi Raj Raso ?
(1) Chandbardai (2) Amir Khusrau
(3] Baba Gorakhnath (4) Guru Nanak

geAlTS T AHE T ¥ oEd F 97
(1) Seaears (2) 3R gEd  (3) ;W Y (4) 5 THE

40. Who wrote the book Discovery of India ?
{1} Motilal Nehru (2) M. M. Malaviya
(3) Mahatma Gandhi (4) Jawaharlal Nehru
YRd TF @I (Discovery of India) qwE fem foran ar?
(1) A 5 (2) THe WHo ey
(3) weremn Tiieft (4) SR AEE

41. Who established Banaras Hindu University?

(1) Annie Beasant (2) Rameshwar Singh
(3) Kashi Raja (4) Madan Mohan Malaviya
e feg et et T fr?
(1) it s8= (2) T firg
(3) FrEft T (4) weH Hied A
42. The famous book The Indian Struggle was written by which Freedom Fighter?

(1) E. M. S. Namboodiripad (2) J. C. Bose
(3) Motilal Nehru (4) Subhash Chandra Bose

26 15 (P.T.O.}
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Hﬁ’@'wEWW(ThEMdianSﬂuggle)%ﬂﬁﬁmﬁﬁ%mﬂm

Y
(1) 3o WIo UHo TR (2) o Hio A
(3) AT ATE (4) §Y & @

43. Vivekananda was associated with which organisation?
(1) Arya Sama] (2) Ramakrishna Mission
(3) Prarthana Samaj (4) Theosophical Sociely
fasm= feg g A wEg o947
(1) 3 Fw (2) T feH
(3) w1 HH (4) fraraifree Hramsd

44. Which reformer wrote the book Satyartha Prakash?
(1) Raja Ram Mohan Roy " (2) Keshab Chandra Sen
(3) Swami Dayananda Saraswati (4) Swami Vivekananda
e gurs 3 gy yEm amE gEE foar?
(1) TS THHET T (2) F9E T35 T
(3) @ T AT (4) @rft faase=

45. Who was the President of the Constituent Assembly?
(1) Jayaprakash Narayan (2) S. N. Sinha

(3) B. R. Ambedkar (4) Dr. Rajendra Prasad

(26) 16
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AU B F oy 9 97
(1) SE9RITT 99 (2) THo Gp%
(3) o Mo AT (4) Bfo tﬁ}am

46. Who propounded ‘Harm Principles’ ?

(1) J. S. Mill (2) I. Kant

(3} J. Locke (4) Friedrich Nietzsche
frafafes 4 @ fFm R # fag’ sffe ey
(1) So o i@ (2) amdo w2 (3) So wl® (4) Fehw Heat

47. Duration of ‘emergency’ period in India proclaimed in 1975 was approximately

(1) 9 months (2) 19 months (3) 23 months {(4) 29 months
yFd # & 1975 ¥ Wi ‘smudee’ #1999 o op
(1) 9 #dH (2) 19 wER (3) 23 wéA (4) 29 TR

48. Consider the following :
(@) Public Account Committee
(b) Comptroller and Auditor-General of India

Which of these are the Committees of Parliament?
(1) Only (a) (2) Only (b)

(3] Both (a) and (b) (4) Neither (a) nor (b)

26 17 (P.T.0
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49.

50.

(26)

firfafes @ wE T ¢

(a) & oi@r |iufd
(b) W@ & WR@l Yiee
fre # & g afifa #1427
(1) F9 (a) (2) Faa (b)
(3) (a) @ (b) A (@) @ (a) 3 A (b)

Which one of the following is a new concept in the parliamentary system of In<ia
generally not found in other countries?

(1) Speech by the President (2) Question Hour

(3) Parliamentary Committees (4) Zero Hour

mﬁwmﬁﬁuﬁ%ﬂﬁﬁﬁﬂ-mww%:ﬂm%ﬁﬂ
AT TE U S 27

(1) TEafd 1 SAHTE (2) TH FA
(3) wwe wffoa (4) A F
Who of the following gives a certificate to the Money Bill?
(1) Finance Minister (2) Prime Minister
(3) Speaker of Lok Sabha (4) Auditor and Comptroller General
Frafafgs § @ # fm s & yo-w g9 27
(1) o wft (2) et
(3) TAFHEAT TEAY (4) T @ wEeE T
18
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Constitution to

(1) President (2) State Governor

(3) State Legislature (4) Parliament
mmammﬁwﬁmmmmﬁmmg
(1} Tgata (2) T F T

(3) Tsa faumE (4) w9

Scientific Socialism is associated with which of the following name?
(1) John Locke (2) Robert Oven

(3) Charles Fourier (4) Karl Marx
hﬁmmﬁnﬁﬁ%ﬂm%mm%?

(1) &3 i (2) T aHaq (3) Id W (4) Fe Fad

Article 14 of Indian Constitution is associated with which of the following?

(1) Right to Freedom (2) Right to Equality
(3) Right against Exploitation (4) Right to Religion
IR WRYH #1 et 14 Feffes § 3 fead aag 27
(1) SaFar #1 fwr (2) §HHFaT 1 3R
(3) wiyu & fasg 3rfusn (4) arids @aFar &1 AR
19 (P.T.O.)

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



18U/ 104/ 15 Set No. 1

54.

55.

56.

(26)

The States Reorganisation Act, 1956 divided the entire country into
(1) 22 States and 9 Union Territories

(2) 14 States and 6 Union Territories
(3) 17 States and 7 Union Territories

(4) four categories of States

27 farfitamem U&e, 1956 ¥ Trqet g &t fawfem R
(uzzmaﬂigmﬁﬂmﬁ (2) 14 US4 3N 6 Hgwiad Hq H
(3) 17 77 3t 7 Fzamiea e H (@) T F W FowS H

Under which Article of the Indian Constitution may the President b
impeached?

(1) Article 356 (2) Article 75 (3) Article 76 (4) Article 61
wm%muﬁzﬁmw«mmmm%?

(1) 3=z 356 (2) ¥T=a 75 () IWT 76 (4) IT=T 61

The Comptroller and Auditor General of India does not audit the accounts of

(1) State Government (2) Government Companies
(3) Municipal Bodies (4) Union Government
arE F weerE v fidws whes e w aEee T e #d @
(1) T59 §&R (2) TEEA FFIA
@) am Frere (4) ¥ HHT

20
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Which one of the following is not a feature of the Indian Constitution?

(1) Sovereignty of Parliament (2) Republic

(3) Secularism (4) Judicial Review
Fefafes & & #7 wrdta dfvam 6 g 58 27

(1) &8 H Ty (2) TorEH

(3) v (4) =fash aien

How many members are there in the Public Accounts Committee of Parliament?

o H AF e @iy F fead e @ B
(1) 16 (2) 18 (3) 20 (4) 22

Which one of the following statements about the judiciary is false?
(1) Every law passed by the Parliament needs approval of the Supreme Court.

(2) Judiciary can strike down a law if it goes against the spirit of the
Constitution.

(3) Judiciary is independent of the Executive.

(4) Any citizen can approach the courts if her rights are violated.
Fuferrl & fawa 4 f= 4 @ F9-w 99 amy 27

(1) ¥8g & it Yo% F7 H Anufew i @i § smawwa o )
(2) @loum & faeg 91 a el oft s F1 =ImofE fea = g 2
(3) =i FHEAfem & w@ad 2|
m;wﬁaﬁmﬁﬁvaqwaﬁvﬁwﬁmmwmaﬁﬁxmm%l

21 (P.T.O.)
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60.

61.

62.

63.

(26)

A person who is not a Member of Parliament is appointed as Minister. He has to
get elected to one of the Houses of Parliament within

(1) a month
(2) three months

(3) six months

(4) stipulated time as fixed by the President

o = W B GEg # wed E 2, R F w9 A W g 21 e R oft we
i fatfga 2 6 stfisan @y @

(1) TF T (2) M WE
(3) ©: WIE (4) vgufa grn fuifa wm

Which one of the following is based on birth?

(1) Varna (2) Class (3) Caste (4) None of these
frafafigs § & #19 9 W A9 27
(1) aof (2) = (3) i (4) ¥8 @ Fr3 T

How many Purusharthas are there?

fopt gewd €7

(1) 2 (2) 4 (3) 6 (4) 8

In India, how many castes and sub-castes are there?
(1) More than 5000 (2) Four

(3) Two hundred fifty (4) Eighteen

22
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yr | fedt syl ol u-sfiat 87
(1) 5000 & 3Ffe (2) =W
[S)F.fll-ﬂm (4) 33TE

64. Which one tribe among the following belongs to Andaman and Nicobar Islands?

(1) Jaunsari (2) Jarwa (3) Toda (4) Gond

frafafigs § & #9 & sverm @@ feEr fuae A s 27

(1) Stad (2) S (3) e (4) Tite
65. Which tribe among the following belongs to Uttar Pradesh?

(1) Shompen (2) Garo (3) Khasi (4) Tharu

frafofaa § @ #1930 W29 $ & sHfd 27

(1) ¥ (2) (3) G (4) U

66. What do you understand by Nuclear Family?

(1) Husband, his friends and wife
(2) Husband, wife and relatives
(3) Husband, wife and their unmarried children

(4) Husband, wife and their married children
vFrh ofEan @ 3 9 mEEa B 7

(1) ufa, 35 fim o ot

(2) ufa, geft ot fivdgn

(3) uf, et 3 37 fdafEa ==

(4) ufa, geft 3 3% faanfea a=

26) 23 (P.T.O.)
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67.

68.

69.

70.

(26)

Which one of the following is not the problem of Hindu marriage?

(1) Dowry (2) Child marriage

(3) Widow remarriage (4) Endogamy and exogamy
frafafas # #1 fog fae A e 7 27

(1) % (2) st faam

(3) fereran fetare (4) srafdar R wfefEam

What is the minimum legal age of marriage for a Hindu boy in India?

(1) 18 years (2) 15 years (3) 21 years (4) 25 vears
g # feg wrew ¥ foame A 2Eaw FER g A7
(1) 18 =¥ (2) 15 ¢ (3) 21 ad (4) 25 ¢

In India, what is the minimum legal age for casting vote in General Electi
(1) 15 years (2) 17 years (3) 18 years (4) 21 years
qrd § AW g9E % fod a3 A e FwE g w27

(1) 15 a9 (2) 17 =9 (3) 18 ad (4) 21 4

Who coined the word ‘Sociology’?
(1} Karl Marx (2) Max Weber

(3) Auguste Comte (4) Emile Durkheim
fF ‘wumTE weg i = I

(1) Fret o (2) AF F (3) TEd FHR2 (4) $me gEfe

24
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72.

73.

74.
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Who said, “Sociology is the Science of collective behaviour ” ?

(1) Auguste Comte (2) Burgess

(3) Maclver and Page (4) Herbert Spencer
fed e 6, ‘e anqfes srmen w1 e 27

(1) 3T Fe (2) =t

(3) AP N I (4) T T

A Sociologist 1s

(1) a reformer (2) a preacher

(3) a revolutionary (4) an objective inquirer
g g R

(1) T Gur (2) TH I9IH

(3) U i (4) UF TR el

Which one of the following is an example of achieved status?
(1) Girl (2) Brahmin (3) Engineer (4) Boy
frafafga 4 @ 19 s Sl afeufa «1 e 27

(1) sgh (2) sm& (3) rr=m (4) TgH

What will be the mean of the following data?

frfeifiga stfergl *1 wmeg =0 Bhm?
10, 20, 30, 15, 25

(1} 10 (2) 20 (3) 30 (4) 40
25

(P.T.0.)
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75.

76.

77.

78.

(26)

Which one of the following 1s not a characteristic of primitive rehgion:

(1} Taboo (2) Ancestor Worship

|3) Temple (4) Totem

frfafiga § @ # sfem o A ferstwan @i 27

(1) PIRCERT (3) af=x (4) ZEm

‘Carla’ is the name given to a
(1) Galaxy (2) Star (3) Meteoroid
‘Fret’ T o mn

(1) TN F (2) @@ W (3) IeHIMUZ

Which star is closest to the Earth after Sun?

(1) Alpha Centauri (2) Sirius

(3) Proxima Centauri (4) Ross

i % @ FA-4 am et & waifus @i 27

(1) 3% g=1 (2) difgE (3) wifFm =t

‘Hadley cell’ lies in between

(1) zero to thirty degree latitude
(2) zero to forty-five degree latitude
(3) zero to sixty degree latitude

(4) zero to eighty degree latitude

26

(4) Planet

(4) 1=
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(1) 5= ¥ &g faft s & 9
(2) I3 ° Taehy faft samw % g
(3) I & #E foft 3w & 0wy
(4) 3 & ar=ft forft serw & g

79. ‘Col always lies in between

(1) two low and two high pressure belts
(2) two high and one low pressure belts
(3) two low and one high pressure belts

(4) one low and one high pressure belts

(1) 3 f= 3 @ 3= g@ ofem & o
(2) @ 39 9 & = g et & ae
(3) @ = 9 w% I qE Ui F we
(4) @& 1 3 & 3= g U ¥ e

80. What causes rainfall on the coastal area of Tamil Nadu in the beginning of

Winter?
(1) South-West Monsoon (2) North-Eastern Monsoon
(3) Temperate cyclone (4) Local air circulation
aeTg % oo &1 # wiawa & amw # avl fas wwrw et 27
(1) Zieror-ufves wiTg (2) I-ql AT
(3) yiarer Ssand (4) Tura arg afteeror
(26) 27 (P.T.O.)
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81.

82.

83.

(26)

‘Pani Panchayat’ is a Movement to
(1) desalinization of water (2) store water
(3) conserve water (4) supply water
(1) T #1 e ¥ (2) STl WeWUl 'Y
(3) 9 W ¥ (4) wenqfd ®q
Which among the following is not a source of municipal solid wastc?
(1) Private houses (2) Commercial establishments
(3) Industrial processes (4) Commercial institutions
frafifas § @+ mifawe 3 sufie F1 GF A4 T 27
(1) &=t 7= (2) =rEEiTE afaEs
(3) et i (4) =EETaE qEd
Which one of the following is most responsible for greenhouse effect?
(1) Carbon dioxide (2) Dust particles
(3) Spores (4) Hydrocarbons
frafafigs & & 1ieee W@ % fou #7 gaites e 27
(1) T SRS (2) &1 FW
(3) =ity (4) TIEFIFE
28

gcollegeduniaa

—



18U/104/ 15 Set No. |

Fefefad #1 98 ¥ it .
(A) HTH (i) wWad
(B) dfa (ii) T
(C) siFHT$e (i) Hered TETS
(D) e 37w (iv) SR

(1 (A-), (B)=(ii), (C)-(iii), (D)-(iv)  (2) (A)-(iv), (B)~(ii), (C)=(i), (D)~(ii1)

(3) (A=), (B}-(1), (C)-(ii)), (D))  (4) (A)~ii), (B)~{v), (C)-(iii), (D)~(i)

91. The world famous ‘Corn Belt’ is in which country?

(1) Canada (2) Peru (3) South Africa (4) USA
fava uftg ‘md o& form 2w & 27
(1) T8l (2) 9% (3) Zfaor aflw (4) FouHoTo

92. Which world region is the highest producer of natural rubber?

(1) South Asia (2) South-East Asia
(3} Central America (4) South America
fva o1 $H-T1 &9 TFAH @ F I=H IAGH 87
(1) geor ufemn (2) - o
(3) wea T (4) cfemft smfem
93. ‘Zebu’ is a breed of
{1} Cattles (2) Cereals (3) Vegetables (4) Poultry
(26 31 (P.T.0.)
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84. Amrita Devi Bishnoi Award is given for

(1) National Integration (2) Literary contribution
(3) Social work (4) Wildlife protection
gar 3t fawd geen fen s 2

(1) T wFwm F oo (2) @TfEfd® amge % for
(3) FTeE FE % fou (4) F=sfg geam & foro

85. When Indian Parliament passed the Environment (Protection) Act?

yrdty g9e 4 e Qg (Guen) stafeem i e
(1) 1974 (2) 1975 (3) 1984 (4) 1986

86. Find the odd out of the following
(1) Fishing (2) Whaling (3) Pearling (4) Sealing
frafafiga § @ s8a a1 i
(1) Weed 3mEe (2) B IM@T (3) Widt EIRY (4) Hiel 3@z

87. Which city is known as the ‘Oil City of Assam’?
(1) Noonmati (2) Tinsukia (3) Dibrugarh (4) Digboi

FA-°1 TR ‘@9 F a4 A F JH F A AW 87

(1) TAwd (2) famgfaran (3) feame ORI

(26) 29 (P.T.O.)
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94.

95.

96.

97.

(26)

“Eﬂq: & T %
(1) A (2) @ (3) oSt (4) FF2

Merino Wool 1s

(1) short staple (2) medium staple
(3) long staple (4) mixed staple
B 34 ®

(1) B2 M FEn (2) TG W@ A (3) o W A (4) PR e

Banana is not grown in which country?

(1) Brazil (2) Ecuador (3) India (4) Sweden
Fon fom 2w d 7 Imn S 7
(1) §TeiE (2) FETSIT (3) WTd (4) =iz

The venom of Cobra affects the

(1) digestive system (2) circulatory system

(3) nervous system (4) respiratory system

TEam |fY 1 e ywifaa Far 2

(1) 99 a9 A (2) T GIR A (3) W T R (4) 55T 93 =
The control center of a cell is the

(1) cytoplasm (2) nucleus

(3) cell membrane (4) chromosome

32
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99,

100.

101.
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FIforH w1 frem ¥ 2
(1) B 299 (2) F2F (3) ST z=7 Fen

Which one-of the following is not a viral disease?

(1) Rabies (2) Chickenpox (3) Polio
Fefofad § & #9-9 =fua fauoe 4 27

(1) s (2) BT (3) wiferat

In sickle cell anaemia, there is deformity in

(1) WBCs (2) Platelets (3) RBCs
Zm FvE (e 8a) whefvma fasfa 2

(1) egodfiotfto (2) wizeiE R
(3) HAModlowio i (4) <= H
EEG is used for the diagnosis of

(1) brain (2) liver (3) kidney
3o3osflo 1 WM fFg At & fod frn sran 27
(1) wfer= (2) FF4 (3) =%

Genus Aedes is a vector of

(1) Filana (2) Dengue (3) Malaria

R GERC S

(1) SafEr w1 (2) 1 W (3) wafwr =
33
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(4) T
(4) Leprosy

(4) $8

(4) Lymph

(4) heart
(4) w3

(4) Elephantiasis

(4) wrefiaia =

(P.T.O.)
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102. What is the term which describes the fusion of a sperm and an egg?

(1) Duplication  (2) Reproduction (3) Ovulation (4) Fertilization
g aon ferw % wasa w1 fFm am | afla 27
(1) e (2) WS (3) feratem (4) P

103. Which organ belongs to the digestive system?

(1) Thymus (2) Heart (3) Stomach (4) Trachea
FA-F1 A A a7 F1 fEEm 22
(1) seaufd (2) &H (3) AR (4) ETEATA

104, The central nervous system includes

(1) nerves (2) brain and spinal cord
(3) brain (4) spinal cord

Hg af 93 4 gfmfoa 2

(1) ¥ (2) wierssh agr "

(3) e (4) e

105. Lysozyme is antimicrobial secretion of

(1) tears (2) saliva

(3) polysaccharides (4) All of these

AreEtsen wfogensiet \a R

(1) 31g (2) @R (3) WiefdFuzsgE  (4) IWE At
(26) 34
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The hardest constituent of tooth is

(1) bone (2) dentine (3) enamel (4) pulp
Zfd %1 S3aH Hagd 2

(1) &= (2) geg (3) aideh (4) T

Bile is formed in

(1) gallbladder (2} spleen (3) blood (4) liver
frm w1 fmtor &rem 2
(1) Tuomm o (2) witer o (3) shem ¥ (4) 9%d

Glycogen is stored in

(1) blood (2) heart (3) muscle (4) liver
TR H HUSRUl BT 2
(1) ®ftm = (2) 829 H (3) wrgufirt (4) aFa ¥

In the Deccan region of India, which one of the following river(s) is(are} west
flowing rivers?

(1} Narmada (2) Tapti
(3) Both (1) and (2) (4) Neither (1) nor (2)
WE ¥ zEa 8w 4, frm § @S- 3@ /Rt ot f s wwd @37
(1) T (2) @t
(3) (1) q41 (2) T (@) Fa (1) I A (2
35 (P.T.O.)
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110.

111.

112,

113.

(26)

The Union Budget is presented in Lok Sabha by

(1) Prime Minister (2) Finance Minister

(3) Defence Minister (4) Home Minister

A § FE F9e WRa R S @

(1) wamd gm (2) fam o gm (3) w wA g (4) TR WA ZM

Which President of India had the longest tenure?
(1) Dr. S. Radhakrishnan (2) Dr. Rajendra Prasad

(3) Dr. Zakir Hussain (4) Dr. A. P. J. Abdul Kalam
yra ® feg vpefe &1 srfwe waifas @ 27

(1) Slo THo THUTFWH (2) Blo TN ¥E7
(3) Erail'lﬁ-:'{@? (4) &lo Uo Wo Ho 3Feqel FAM
The first Indian to receive Nobel Prize was

(1) S. Chandrashekhar (2) Hargovind Khurana

(3) C. Venkataraman (4) Rabindranath Tagore

Trae qUERR 9 a9 9UN HRdE 9
(1) WHo I5¥ER (2) TONfa= @uAl  (3) do dwamd  (4) THeay i
Exclusive Educational Channel of IGNOU is known as

(1) Gyan Darshan (2) Gyan Vani

(3) Doordarshan (4) Prasar Bharti

36
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r(moué;m:aﬁm%qaaﬂmm%

(1) 39 zefq (2) 9= amff (3) grawiq (4) wET vt
The lowest form of rational polynomial x' ~13x% + 36 | 1s
x? -~ x? -6x
trfmlagqax"lg’x * 30 1 e w2
x® - x* -6x
) (x=2)(x-3) @) (X=2)(x+3)
X({x+2) x

3) (x+2)(x-3) @) (x+2)(x+3)

X x(x-2)

s B 3 - : x* <16 .
The multiple inverse of the rational expression of is

x(x-2)+2x% -8

dfg s x* -16 _Bmwuﬁa}q%

xlx-2) +2x

1 1 1 X+2
m @ — O -r5) @

In a school, there were five teachers. A and B were teaching Hindi and English.
C and B were teaching English and Geography. D and A were teaching
Mathematics and Hindi. E and B were teaching History and French. Who among
the teachers was teaching maximum number of subjects?

UF A § F 9 wAmE o fTEd A qwr B =R o oish vem 9 ¢ aw B
IS aA e Tgd 4 D qW A @ qw T vem 4 E aw B THEw A«
B9 Ug ¥| 3 AAUH A B F HNAUF TS AU G9q TZE o7

(1) A (2) B (3) C (4) D

37 (P.T.O.)
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117. All the roads of a city are either perpendicular or parallel to one another. The

118.

(26)

roads are all straight. Roads A, B, C, D and E are parallel to one another. Roads
G H.I J K, Land M are parallel to on¢ another. Road A is 1 km East of Fua‘d B.
Road B is 5 km West of road C. Road D is 1 km West of road E. Road G 1s 5 km
South of road H. Road I is 1 km North of road J. Road K 1s lz km North of road L.
Road K is 1 km South of road M. If road E is between B and C, then the distance

between A and D will be
(1) } km (2) 1 km
(3) 1'5 km (4) between 15 to 2 km

wF T § gl e UR-gE % A A OWEERE R A aeEd R el agd d@ R
ge% A B,C,D a1 E U@ ¥ TH-g F WAANR R| FH G H, I, J K.L 70
M 3TE § GOFTR | H%E A, g% B & @ 1 fwotfie gT 81 HSF B, WIF C
¥ ufeam L fRelo g R1 WSF D, WeH E F UEW 1 oo T R WEF G, weF
H%ﬁmgﬁaoﬁoq%mnasﬁJ%mlﬁotﬁoqélmk.nﬁ
L%ﬁt%%atﬁnzj%lmx,mnﬂ%a&wlf%ntﬁoqiélﬂﬁﬁ?ﬁ.fz.
qe% Bl C ¥ #9 2, @ A qw D F ft=w Hi g Fh

(1) %ﬁaolﬁo (2) 1 TFodio
(3) 15 faworio (4) 15 8 2 fRotflo & i

‘A + B’ means ‘A is the daughter of B’. ‘Ax B”’ means ‘A is the son of B’. ‘A-B’
means ‘A is the wife of B. If ZxT-SxU +P, what isV to Z ?

(1) Mother (2) Grandmother

(3) Father (4) None of them

A+B T AT 2 AB R TR ¥ AxB F 3k 2 5 A B T oaeE ¥
A-B®E A4 T ABR G R13R ZxT-SxU+P, @V, Z 1 70 27

(1) W (2) T (3) foen (4) ¥9 F F1¥ AH
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119. F‘i've words spine, spinal, spinner, spinet and spindle are given. Which of them
will come in the middle if all are arranged alphabetically as in a dictionary?

stﬂ £ ‘ﬂ'ﬂ %G spine, !?pinal, spinner, spinet a9l spindle f&d gq gl 45 $
Wﬁﬁﬁ3mﬁ€hWﬁmrﬂwﬂﬁﬁﬁmum§,ﬁah4nmﬁaﬁhﬁaﬁm?

(1) Spine (2) Spinal (3) Spinner (4) Spinet

120. in a group of cows and hens. the number of legs are 14 more than twice the
number of heads. the number of cows will be

mﬁamryﬁ&:@ﬁmﬁiigaﬂﬁ#ﬂ#@n$ﬁfﬁi%émﬁﬁ 14 afus Ry
T # HE g

(1) 5 (2) 7 (3) 10 (4) 12

(P.T.O.)
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Section—II
w@us—II

LANGUAGE : ENGLISH

(For Candidates Opting English Language)

Note : Four alternatives are given as possible answers to each question. Give the correct choice
as an answer.

Directions : (Question No. 121-124) Select the word nearest in meaning to the given
bold word.

121. Going through old photo albums 1s always a nostalgic exercise for me.

(1) Annoying (2) Sentimental (3) Pleasing (4) Happy

122. Death is inevitable, but that is all the more reason to live life to the fullest.
(1) Unavoidable (2) Sad (3) Mournful (4) Ritual

123. His reputation for sarcasm made him one of the most feared film critics in the
business.

(1) Taunting (2) Angry (3) Dreadfiul (4] Loud

124. Ajit is taking care of the logistics for the picnic this weekend.
(1) Maternials (2) Eatables (3) Transport {4) Management

Directions : (Question No. 125-128) Select the word opposite in meaning to the given
bold word.

125. The murderer managed to avoid imprisonment by being diagnosed with
insanity; he was sent to an asylum inslead.

{1} Rash (2) Insensible (3) Sane (4) Clean

{26) 40
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127.

128.
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He arri _ -
mann g drunk to the reception and behaved in a thoroughly despicable
R Compelled us to have him removed from the premises.

) Impervious  (2) vulear (3) Devilish (4) Desirable

The reco_nciliation of my sales figures with the company's boiled down to a
mtter of calculation errors on my part.

(1) Estrangement (2) Counsel (3) Increase (4) Problems

He has been criticized for the use of obsolete expressions in his writings,
rendering his works incomprehensible to the present generation.

(1} Twisted (2) Pungent (3} Current (4) Oblique

Directions :  (Question No. 129-135) Select the word to fill in the blanks.

129,

130.

131.

132.

133.

26

by criticism.

Sahil was not

{1) satished (2) careless (3) lazy (4) deterred

the blood it sheds.

There 1S no glory in war

(1) hoping (2) considering (3) anticipating (4) disliking

He was of playing tight and loose with the sentiments of his dearest
friends.

{1) accused (2) thought (3) thick (4) determined

The new Principal stress on routine administration rather than on
academic matters and examination reforms.

(1) developed (2) seasoned (3) laid (4) allowed
The words of the mother comforted the disappointed child.
(1) regular (2) sharp (3) angry (4) soothing

41 (P.T.O)
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134. Civilization, in the real sense of the term, consists nol in the - but in the
deliberate and voluntary reduction of wants.
(1) multiplication (2) necessity (3) pleasure (4) desire

135. To yourself from cold wear warm clothes.
(1) approve {(2) annihilate (3) choose (4) protect

Directions :  (Question No. 136-140) The given sentence is divided into three parts
numbered (1), (2) and (3). One of these contains an error. Select the

erroneous part. If you think there is no error in any part of the sentence
select option number (4) which indicates “No error’.

136. The presence of strong feeling, ~ the cause of which is not fully understood,
(1) (2)

always has the effect of making we human beings uncasy. No error

(3) (4

137. The new law is too stringent; it will be neither respected or obeyed. No error

(1) (2) (3) (4)

138. The tribesmen made offerings to placate

(1) (2)

were angry with them. No error

(3) (4)
139. The General has reported that, as a result of financial constraints, less
(1) (2)
soldiers would be sent on peace - keeping missions this year. No error
: (3) (4)
(26) 42
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140.  According to Hume, it is not logic and rea soning that determine our actions,

lzu_t emotions. Np error

g m—

@ @

141. Which word of the following is not a noun?

(1) Document (2] Politics (3) Abolish (4) Movies

142. From the given alternatives, select the most appropriate one to fill in the blank
In [ollowing sentencesg °

We want water. We are

(1) hungry (2) hot (3) sweating (4) thirsty

143. Fill in the blank with the best conjunction :

She should wear her new blue dress or the white lace one to the

party.

(1) either (2) among (3) as (4) neither

Directions : (Question No. 144-145) Choose the correct meaning of the given idioms.

144, Hands Down
(1) Inability (2) Easily (3) Same (4) Tied

145. All Greek to Me
(1) Ancient (2) Distant (3) Common (4) Unintelligible

146. Identify the figure of speech in the following line :
The beginning of the end

(1) Paradox (2) Simile (3) Metaphor (4) Epigram
(26) 43 (P.T.O.)
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147. Choose from the four options, the word which can be substituted by the given

group of words :

A person who believes n fate

(1) Priest (2) Clergyman  (3) Fatalist (4) Monk

148. Choose from the four alternauves, the one which best expresses the given
statement into the indirect speech :

“1 will pass the exam”, she hoped.
(1) She hoped to pass the exam.
(2) She hoped she would pass the exam.
(3) She hoped she would have passed the exam.

(4) She had hopes to pass the exam.

149. Choose from the four alternatives, the one which best expresses the given
statement into the passive voice :

He opens the door.
(1) The door is opened by him. (2) The door vpens by him.

(3) He had the door opened. (4) He opened the door.

150. Identify the doer of action in the following sentence :

Macbeth was written by Shakespeare.

(1) Macbeth (2) Shakespearc

(3) was (4) by

(26) 44
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Section—II
Qug—I1
TR
("=t @ aret farenfelai & fomm)

ﬁ’{m:ﬁmﬁr‘@amﬁ(u,(zy,(mmﬂ(4]m%w~aﬁ%aﬁqa;wﬁﬁrr&§.ﬁqﬁ
T FZ TH B HE 21 39 HA 3w gl

¥

151, HE@A MY 6 9 A wRa ) agsm g 97
(1) 370sh (2) TET (3) fa (1) AfT=
152. wFa % e o A 5Y% apEd d ged an 7 § smew G
(1) 3fgm e (2) ¥ee fagrt a4t
(3) WIRS ZETE (4) wZIE

153. f7=1 &1 w9 a9F #1 fvfa o fafa =t faa mare
(1) 26 SHatl, 1950 (2) 14 Rmwr, 1949

(3) 15 3T, 1947 (4) 14 faa=r, 1950
154. fmafdfga & 3 9 @ 78 27
(1) 7 (2) o (3) ¢ (4) 3

155. = & @ #i7 a9gw 9+ 7@ 27
(1) & (2) 7 (3) ® (4) 7
26 45 (P.T.0.)
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156, = § @ yg addt & w9 Hif

(1) Fahftao (2) sefEET (3) SEREH

157. a4 # g & F= @@ 27
(1) "= (2) G-t (3) STaEl

158. ‘mmEw # W €fa # AW 2
(1) I ) 34 (3) ¥

(4) st

(4) @t

(4) a0

159. fr= § & uw weg &fu fi 3 ¥ AYG })| | FA-A AR ¢, FARC

(1) ad= (2) durfa (3) TGN

160. f= § & ®A-91 Weg FoIagwh 27
(1) 1 (2) TR (3) SN

161. = # § Q@ vee g3
(1) =9 (2) 4@ (3)

162. 3 # A 9099 wBg FH-H1 27
) T (2) ©d (3) &

163. fio # & #l9-41 wee Arara® T 27
(1) T (2) TETS (3) @Al

164. = 1 4 F9-41 veg ifem 27
(1) H&m@ (2) H=uA (3) Fm

(26) 46

(4) QYU
(4) IH-AR
(4) =g
(4) i
(4) e

(4) ufwg
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165. 'gaéﬁﬁﬁg’ma*a'mWama?

(1) 9= (2) Foy (3) dY2H
166. 1797 0 & favryv vieg #g-=1 27

(1) v () favay (3) fm
167. = 9 & *R-W weg T’ 1 wyiwEh A 27

i1} e (2) a7 (3) HHh
168. HEM @1 facweds e @

(1) 39 (2) F (3) srifem
169. ‘fgw = =& =Hifom w9 2

(1) fagrm (2) fagrft (3) faemh
170. SR # =1 W AW —3 A4 F foR swgw weg gfe

(1) fagm (2) e (3) foramg
171. ‘foiy &’ o % forw @d weEw @

(1) & wem (2) fr =g (3) & g
172. T ST F @

(1) e #e (2) Fftwm &0 (3) € wtE
26 47
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(4) =Y
(4) 93

(4) ag
(4) 42

(4) fag

(4) nfawpr
(4) far 3am

(4) Tt ZW

(P.T.O.)
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173. Flagaagar  @9Eh 9

(1) SAFW g (2) AfeEpien o™
(3) wargARE (4) WE= e

174. YRA-HEA F TEAEH R
(1) WG EY AT (2} Fur eas
(3) Afecftzror TH (4) TRy Furd

\75. dl9® & @i @
(1) €™ (2) FN (3) WeIsa 4) =W,

176. {myfi & EATHN 2
(1) 9w (2) Sz (3) ST APR (4) 49T

177. fr # @ amrA £ o= e # R
(1) T (2) savia vae  (3) Afwewr T (4) gieEe g

178. fr= & & wofivarng o A = FA-H 27
(1) 7@ (2) fAsert (3) Hem A (4) T

179. ‘fazamem’ # wR-d@t w@fy 27

(1) T (2) M (3) 3fg (4) am
180. ‘mwumel # FA-A1 THE B 7
(1) a'ﬁaer% (2) FHuTg (3) deq%d (4) srrdaTE
48 D/8(26)—
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88. What is the main reason behind location of IT Industry in South India?

(1) Local capital (2) Nearness to market

(3) Suitable climate (4) Availability of trained manpower
e e & aodie M % vrafm % 69 wpg ww A 27

(1) =@ gh (2) s $t gfiyar

(3) 39qT SeEy (4) sfE@ oo am ) soEewm

89. North-East India does not have cotton textile industry because
(1) lack of demand (2) unsuitable climate

(3} Unavailability of raw material (4) lack of labour supply

IW-Yd 97 4 gt gm @ o R, w@fs aw

(1) 5iT i F=f 2 (2) SR FerEr R
(3) = HrA Hi FTASAT 2 (4) YT F1 3parg 2

90. Match the following correctly :

(A) Manganese (1) Khetri

(B) Copper (i) Mayurbhanj
(C) Bauxite (iif) Maikal Hill
(D) Iron ore (iv) Balaghat

(1) (A1), (B)-(ii), (C)—(iii), (D)~(iv}  (2) (A-(v), (B)(ii), (C)~(i), (D){iii)

(26) 30
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10.

11.

12.

13.

14.

vt & foro few

(39 gfer= # YUH WEU-YE G Al M oTHo 3o ITN-TA & =1 qm ar
e A A Aoz 4 @ A )

yA-qfea foem F 30 e % wa @ 2w & fF woawa d wdt 9w disg # st FE 9 W WA g2
qﬁ%mfﬁmaﬁﬂgmmmmwﬁq\mmm{ -Fifigre 1 2E @Ep gwwa # gEh qfee

e & A |
uflen w= # ¥IVM-u3 F AR, fow @ e w1 oA gen Fm oWy 8 9 w9

fouHo e IM-TA Wem & fam mn 21 g8 7 @ wid it 7 # faga &) AV TN I -
gx 781 f2ar Jmam| a5 HoTHoHRo IA1-U7 &1 g grarad faan aram|

woft wiafini wom smEw-yn @ el /FER ae 07 @ faife em m faa

3t oTHo Ao ITH-UF & UUH YB W U4 @ U Hgwwis fuifm ram w o aan F= fzg g9
H ME T 3| Fel-Ag ATHYA® 7 AR WA-YfEaE FFHRIE 0 weg HIZ A AT € FT AN
3fea et o o

HoWHoRNe TTR-T9 W IFFWF @A, TA-IEGHF wem 4 He qem (3 wT 7)) adqr -
TfiE T OAIFAF Ho M HoUWRoHRe IW-TA Ho H gfafeai # 3ufams f waufa 3@ 2

ﬂmuﬁfzﬁﬁﬁﬁaﬁqﬁaﬁwﬁﬁﬁmw&mﬁmaﬁ@ g AR UF AgfEd 3
F WM WA SET

qr-yfe § g v & A AFfEs aw f2a mod Ur® 9T & dsfoasd I & ford smaEt
T oTTo 30 T~ F1 Frfim Gfes & wrad 23 T g7 & HAloTHodTo TH-UT & T4W g5
g7 fo3 77 fAgwi & AR 97 & M FAT 21

TRIE WA & I F f8 wad uF A g9 F Mg & U & AU R ME A OE 0
oF g9 F HYY WA W T@ IW e HE FE|

wmarmwannrrzﬁmaﬁmmmqﬁm%m%luﬁmi:rn”lu:ra:n*m:ﬁgmm
5 & meafem ifF ¥ G 23 o wf ge # @en Sig 3 T mE ® g 5% o ann

mma&:ﬁﬂm-gﬁammmnm 7 At yg e AfaR g8 & WA i

afie £ qmfa ¥ a2 Awdl AT oo Ho - THe Fa et W Fa g w Ay ) v
a0 WY WA -YIETET A9 3oTHodNo IW-T7 A ufd & o "FEA

T GAH B4 ® Ugel whEn wEd § el W A argafa @ e

2 Fd el ohan # owf @l #1 wEm w2, @ 9 fawafamem gm fuifa 2z s, e
arm /e
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